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y^z [ y X|{7mnbnb c�d\c�u~}1c�k�� H��e`Mt�SEcMklc����rg�i1d\`Mc
� il`M�6mnge]4i1b mnN�i1d\kli1b a1u6�M�om?]n`M�Oijs
��N��ouOc�u~gq�7��cM`��qb mnbnb cC] ��g

���O�����M�l�o�C�\���l�e�=�e�M�^���A�1���=�C���#�O�l�j�C�-���l�Y�����l�
�~�C�j� �l�'�^�O�
�O�^�M�^���������  C�1��� �l���=���=���C�~¡=���
¢ �l�#�j� �=�l� ��� �=�=¡~����� ���J£1�^��¤6� �=���j¤~�����e�������=�6�e� �¥�e���6¤%�A�l�O�%�l�M�^�=¦O���¥���=���C�j�e�Y���C�r§O¨©¦=�
������¦=�~�~�l� �l�l¤��¥�8� �l�����=�~¡O���C��� ���^���^�¥�l���=�M�^�¥� ¢ �M�^���eªx�l��«��=���1£6�¥�~�C���Y¤J�~� ¬\�e���e�Y���¥�^�6��� �=�Y�
�^�O�����=�~¡~�¥�e����¦=�e�l��¤l§6¨©¦=��������¦=�~���¥�©�^�=�=� � �C���������A�1���=�C�����O�l�j�C�����l�Y�����l�\�~�C�j� �l��� ¢ �
�j�e�=�^�M�1�M���¥¤���­=��� �M�e��®�¯°���^���l�C§ SEaM±A²1gom ³��6f �

© ´6µlµ y K��~HJS

¶ §©·�¸#¨�¹�º�®�»�¯x¨©·�º�¸

¨©¦=�J�=¡=� «
� ¢ ��­~�¥����� �=�%���l�Y�����l����¦=�e�l��¤��¥���~�e£l�^���C�����
��� ����� �Y£^�^���¥�^�Y��¼?���M�1��� �l�O�^��¤=½
�j¤~�����e���e§l¨©¦=�����C�l�j�l���¥�
��¦O�1�©��� ����� �Y£^�^���¥�^�l�©���~�~�e�¥�©�^���#��¦=���j� ���=� �C���C§~¸��e£Y¾
�e�j��¦=�e� �C���e¿7� ���¥�J� �Y���e���C����� �=�
���W���l�O�j�¥�~�e�J��� ����£^�^��¤Y¾
� �=�W���~�~�e�¥��� �|���^�6¤À�^�=�=� �¥�e�1��� �l�|�=���l�=� �e���e§8¨©� ���
£1�^��¤6� �=�-���~�~�e�¥���^�¥�j�
���C�j¡=� �M� ¢ ���l�Á� �¥�~�C�^���  C�1���¥�l�Â� ¢
�=�l�=� � �=�C�^�©���=�~�e�¥���^���l¡=�O���M�M�1Ãq�C�o���l��� �C�e§
Ä �^�6¤���� ¢ �e���e�O���C���~�e£l�^���C�Å���|� � �=�C�^����� ���'£^�^��¤6� �=�
�j¤~�����e���#�^������£1�^� �¥�^�=� ��� ����¦=�J�l�A�e�
� � ���e�M�1��¡=���l§AÆx¡~�C¿
���Y����� ¢ ��¦=�e�Ç�=���C�j�e�l�M���l�e�=�e�M�^�7��¦=�e�l�������¥�e�^�8���C�j¡=� �M�
� �È�D�=¡=���e� ¤��^�O�����M�l�o�W���1��¦=�e���1���¥�e�^��� �e£l�e�¥�e§�·É�Â�¥�
ªx�l�j��¦����#�~�e£l�e� �l��������¦=�~�=��� �J�l�e�o�l�M��ª�� ��¦���¦=�E¡O�j¡O�^�
���6�l�¥�r¡O�j�C��� ���e�=�l� �=���e��� �=���^�=�=� �¥�e�1��� �l�O�e¿��O�^�j���¥��¡=�¥�^��� ¤
�l�M�^�=¦=�¥�e�^�©���6�l�¥�e§�Ê=�l��� �O���M�^�O���l¿E�\���������=���M� ¢ �l���~�¥��¾
���������Â�j¤~�����e���e¿��j� �l�O�^�#�O�1ªÇ�l�M�^�=¦O�e¿©�~� �l�M�^�=¦O�%�^�O�
�A�l�O���l�M�^�=¦O� ¢ �l�����l�l��� �6¡=�l¡O�#�j¤~�����e���e§O¨©¦=�C�j�����~�6¾
�e� � � �=�|�¥�^�=�l¡O�^�l�C������¤Å�A�W�A�1ªx�e� ¢ ¡=� ¢ �l�%���=�6�e� �¥� �=�
�=¡~���=�e�C�Ë�^�Ë�l�~�CÌY¡O�1������¦=�e�l�������¥�e�^���O�l��«6�l���l¡=�O�'���
�M�^«l�-�l�~£1�^�Y�M�^�l��� ¢ �^� ����¦=�-� � ¢ �l�����1��� �l�°���l�l�M�^� �=�C�
� �°��¦=�C�j�'�l�M�^�=¦=�¥�e�^�#���e�=���C�j�e�l�M�1��� �l�O�e§©Í6�l���'���C�j¡=� �M�
�^���À�^� ���C�l�~¤D�C£^�^� �¥�^�=� �Â� �Î¼4ÏE� �¥�^�Ð�^�O�ÒÑ��e�l¿ ¶CÓlÓYÔ ½
¢ �l���j� �l�O�^�x�O�1ªÕ�l�M�^�=¦O�e¿�¼?¹��e� �O���M¦=«l�l¿ ¶CÓlÖlÖ ½ ¢ �l���~� ¾
�l�M�^�=¦O�e¿E¼?®��^¡=�=¦=� �~¾q¨
�^�=�l¡=¤ c�f�i1b ] ¿ ¶CÓlÓlÓ ½ ¢ �l��� � �=�C�^�
��� ���Ë� �Y£^�^���¥�^�l�-�A�l�O�×�l�M�^�=¦O�e¿�¼?Øl¡=�O���O¿ ¶CÓlÓlÙ ½��^�O�

¼?����¦=� � c�f�i1b ] ¿©Ú^ÛlÛ^Ü6½ ¢ �l���=�l�=� � �=�C�^����� ���
� �6£1�^���¥�^�Y�
�A�l�O�%�l�M�^�=¦O�e§
¨©¦=�¥�����l�l����� �=¡~��� �l�°�~�C�^�¥��ª�� ��¦Å��� ���
£1�^��¤~� �=�W�A�l�O�
�l�M�^�=¦O�e§ Ä �l���×�=���C���¥�j�e� ¤\Ý����~�~�e� � � �=�O¿��A�1�°�l¡~���=¡~�
�¥�~�e�Y��� ÞA�e�1��� �l�ß�^�O�ß�~� ¬\�e���e�l���¥�^�×�O�^�M�^���������  C�1��� �l��§
¨©¦=�J�=���C�j�e�Y���C�����C�j¡=� �M���^����� �Y�����~�~¡O���C�
� �
��¦=���^� �l��¾
�=�M�^�¥� ¢ �M�^���eªx�l��«��=����£6�¥�~�C���6¤��~� ¬\�e���e�l�M�¥�^�6��� �=�Y�
�^�O�
���~�~¡=� �C����¦=�e�l��¤Wª�¦=�¥��¦|���l�O����� ��¡~���%�-£^�e��¤Â�j¡=� �M�^�=� �
¢ �M�^���eªx�l��« ¢ �l�
����¡O�~¤6� �=�°������¡O�o��¡=�M�^���=���l�A�e�j��� �C�%� ¢
��� ����£^�^��¤6� �=��� � �=�C�^���j¤~�����e����¼?Ê
� � �C���e¿ ¶CÓlÓ Û=ÝYÆx�l¡=��� àC�
�^�O�%Ê
� � �C���e¿ ¶CÓlÖ Ü6½o§~¨©¦=�����^� �%���C�j¡=� �M�����l�O�j�¥���©� �%��¦=�
��­6���e�O�j� �l�Ë���W��� ����£1�^��¤~� �=�'�A�l�O�|�l�M�^�=¦=��� ¢ ���^�Y¤
�l�M�^�=¦=�¥�e�^�.���6�l�¥�J�C£^�^� �¥�^�=� � ¢ �l����� ����� �6£^�^���¥�^�l�J�l�=�C�e§
Ï.�^�j���¥��¡=�¥�^��� ¤l¿ Ä �l�j�l�Â� �6�l�Â��¡=� ��ª�¦=�¥�M¦À�¥���=�
� �l�=�l�e�
£1�^� �¥� ¢ �l�x��� ����£1�^��¤6� �=��� � �=�C�^�©�A�l�O���l�M�^�=¦O�x�~¡=����¦=�
�=���l�A�e�j��¤
� ¢ �=�l�Â���l���J¡~�M�1��� £6� ��¤-�l�����%�=�¥������­6���e�~¾
�j� �l�%� �%���e�����©� ¢ ¹�� �e�l� �lá �©�Y�^� ����¡=� �l§
¨©¦=�Ë�=�^�\�e�-�¥�
�l���Y�^�=�  e�C�×�l� ¢ �l� � �1ª��e�#�j�C�o��� �l��Ú��¥�
�~�e£l�^���C�'���-�j�l�����=�l�M«6�l���l¡=�O�'� ¢ �~� ¬\�e���e�l���¥�^����� �=�Y�
�^�O�D���~�~¡=� �C�e§�Í6�e�o���¥�l� Ù �~�C�^�¥��ª�� ��¦Ò�A�l�O�D�l�M�^�=¦
���~�~�e� � � �=�Ò� ¢ ��� ���°£1�^��¤6� �=�D� � �=�C�^�Ë�j¤~�����e���e§�Ê
�¥�1�
�l¡~���=¡~��� ¢ �j� �=�l� �%� �=�=¡~���A�l�O�Ë�l�M�^�=¦O���^�O�À�A�1���=�C���
�O�^�M�^���������  C�1��� �l�â�^�����\�^��¦È�=���C�j�e�l���C�â� �Î�j�C�o��� �l�O�
ÜÒ�^�O� Ô ���C�j�A�C�o��� £l�e� ¤l§�¨©¦=�Å�=�^�\�e�W�e�O�=�Wª�� ��¦È�^�
�^�=�=� �¥�e�1��� �l��� ¢ ��¦=�x�=���C�j�e�Y���C�����C�j¡=� �M�������#�j�e�O�^�M�1���e� ¤
��­=��� ���C��®�¯°���^���l�©���=�6�e�h§
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´ ]nX�Q'aek1u~b co��i1d\k�b m¥drc�i1g�fhm	��c�}1i1go²1mnd6³��o²��ofqc
�J�
���-¼4�l�M�~� �O�^��¤=½
�~� ¬\�e���e�Y���¥�^�O��� �=�

k
�¥�������l���J¡~�M�1��� £^�

��� �=���CÌY¡=� �=�A�C�'ª�� ��¦À���~�e��� £1�1��� �l�
d
dt

: k → k
¿7���1�j¾

�¥� ¢ ¤6� �=����¦=�����l�����l���=���l�A�e�j���¥�e��� ¢ �J�~� ¬\�e���e�Y���¥�1��� �l�
�l�A�e�M�1���l��¼?Ê
� � �C���e¿ ¶CÓlÖlÓ ½o§6���Â¼4�l�M�~� �O�^��¤=½E�~� ¬\�e���e�Y���¥�^�
ÞO�e�¥�À�n���^�D¼4�l�M�~� �O�^��¤=½��~� ¬\�e���e�l���¥�^�©��� �=�-ª�¦=�¥�M¦Ë�¥���
ÞO�e�¥�r§
��� ��­=�^���=� � � ¢ �~� ¬\�e���e�Y���¥�^�°��� �=�Y�"�¥�È��¦=� ��� �=�
� ¢ �~� ¬\�e���e�l���¥�^���l�\�e�M�1���l���

k[δ]
�CÌY¡=� �=�A�C�×ª�� ��¦Ò��¦=�

�~�e��� £1�1��� �l�×�l�A�e�M�1���l�
δ = d

dt

ª�� ��¦ ���~�
����� �e�l�M�
� �
k
¿�¼ Ä �^� �l�M�^�=�l�l¿ ¶CÓ
�lÙ ½o§�¨©¦=�Â�e� �e���e�Y�M��� ¢

k[δ]
�^���

�A�l� ¤6�=�l���¥�^�¥�Ëª�� ��¦ � �O�~�����e����� �O�1���
δ
� ¢ ��¦=� ¢ �l���

∑

finite aiδ
i
¿=ª�¦=�e���

ai ∈ k
§

��� ��¦=�l¡=�l¦���¦=�¥�E��� �=���¥�.� ���l�e�=�e�M�^�~�=�l�����l����¡~�M�1���¥£^�l¿
��¦=����¡=� ��� �=� �¥�e�1��� �l��� �

k[δ]
�¥�E�~��ÞO�=�C���6¤���¦=�#Ñ��e� �=�=�  

��¡=� �
(1)
§

δa = aδ + ȧ a ∈ k
¼ ¶ ½

¨©¦=�¥�#�l�A�e�M�1��� �l�
�¥�����l���J¡~�M�1��� £^�J� ¢ �^�O�
�l�=� ¤%� ¢
k
�¥�

����� �=��� ¢ ���l�O���M�^�l�M�e§
��chs.dOmnfhm?a1dWXl] �Î�~� ¬\�e���e�Y���¥�^�E���~�~¡=� �

Ω
�1£^�e���
�~� ¢ ¾

¢ �e���e�Y���¥�^����� �=�
k[δ]

�¥���e�O�~�1ªx�C��ª�� ��¦Å��¦=�'���l�����l�
�=���l�A�e�j��� �C��� ¢ ¡O�j¡O�^�����~�~¡=� �C��¼?Æ©�l¡~���¥àe�J�^�O�ÀÊ
� � �C���e¿
¶CÓlÖ Ü6½o§
��chs.dOmnfhm?a1d ´ ] � � � ¢ �

k[δ]
¾É���~�~¡=� �

Ω
�¥�����^�¥�Ë���Â�\�

¢ ���e��� ¢ �^�O�
�l�=� ¤
� ¢ � ��¦O�l�����O�l�j�¥�J� �h§ �l§ ¿A��¦=�e���J��­~�¥���o�
m
�e� �e���e�Y�M�

z = (z1, ..., zm)
� ¢

Ω
��¦O�1���^���

k[δ]
¾

� � �=�C�^��� ¤%� �O�~�e�\�e�O�~�e�l���^�O�
�e£^�e��¤��e� �e���e�l�
w ∈ Ω

�¥�
k[δ]

¾É� � �=�C�^�����l�J�=� �O�1��� �l�%� ¢
z
§

¨©¦=� ¢ �l� � �1ª�� �=�#�=���l�A�e�j��� �C�7� ¢ ���~�~¡=� �C�7�1£l�e�
�=��� �O�o�¥�=�^�
�¥�~�C�^�¥���^����ª��e� ��«6�=�1ª���¿�¼?Ê
� � �C��� c�f�i1b ] ¿ ¶CÓlÓYÔ ½o§

•
�����e� �e���e�Y�

ω
� ¢

Ω
�¥�����^�¥�À���W�\�����l�M�j� �l��¿
� ¢

�^�O���l�=� ¤�� ¢ ��¦=�e������­~�¥���M�7���A�l� ¤6�=�l���¥�^�
π ∈ k[δ]

¿
π 6= 0

¿=�j¡O�M¦%��¦O�1�
π.ω = 0

§
•
�ÁÞO�=� ���e� ¤ �l�e�=�e�M�1���C�

k[δ]
¾É���=�6¡=� �

Ω
�e�^�D�\�

ª���� �j���e�
�l�����~� ���C�o���j¡=��¿=�CÌY¡O�1��� �l�
(2)
§

Ω = T ⊕ Φ
¼hÚl½

T
�¥�������l�M�j� �l�-�j¡=�=���~�~¡=� ���^�O�

Φ = Ω/T
�¥���

¢ ���e���j¡=�=���~�~¡=� �l§
•
¨©¦=���M�^�=«�� ¢

Ω
¿~�~�e�=�^���C���6¤

rank(Ω)
¿6�¥�x�CÌY¡O�^�

���J��¦=�#�M�^�=«�� ¢ ��¦=� ¢ ���e���j¡=�~���=�~¡=� �
Φ
ª�¦=�¥��¦��¥�

�CÌY¡O�^�\������¦=���e�^�M�~� �O�^� � �q¤�� ¢ �^�6¤��O�l�j�¥�©� ¢
Φ
§

��chs.dOmnfhm?a1d��Y] � «Y¾É� � �=�C�^�Õ�j¤~�����e�
Ω
�¥�Õ�

k[δ]
¾

���~�~¡=� �l§E�T� � �=�C�^���~¤6�O�^���¥�e���¥��«Y¾É� � �=�C�^���j¤~�����e�
Ωª�� ��¦ �^���¥�~�=¡~�

u
�j¡O�M¦���¦O�1����¦=�'ÌY¡=�^��� �e�l�����~�~¡=� �

Ω/[u]
�¥�x���l�M�j� �l��¿r¼?Ê
� �¥�e��� c�f©i1b ] ¿ ¶CÓlÓYÔ ½o§

Ê
� �O�^� � ¤l¿
��¦=�¥� ¢ �l�����^� �¥�j� �¥�J���l�����l�e�=�e�M�^�E��¦O�^�Ë��¦=�
���¥�l���j�¥�e�^�����^� ���^� ���M�1��� £1�^���¥�^�=� �Ò���e�=���C�j�e�l�M�1��� �l��§
Ê=�l�J�%��� ����£1�^��¤6� �=�
�j¤~�����e�Á�l� £^�e�Â�6¤'��¦=�����^� ���^�
¢ �l���

(3)
¿=ª�� ��¦

x ∈ <n
¿
u ∈ <m

�^�=�
y ∈ <p

{
ẋ = A(t)x+B(t)u
y = C(t)x

¼ Ù ½
� ���¥�#�C�l�j¤����%�j�e��� �#��¦O�1�

(3)
�¥���CÌY¡=� £1�^� �e�Y�����

(4)
� �

�����~�~¡=� � ¢ �M�^���eªx�l��«����e�=���C�j�e�Y�M�1��� �l��§
(
A(t) − Iδ B(t) 0
C(t) 0 −I

)

︸ ︷︷ ︸

R(δ,t)





x
u
y



 =

(
0
0

) ¼4Ü6½

¨©¦=���e�Y����� �C��� ¢ ��¦=�J���1����� ­
R(δ, t)

�A�e� �l�=���������=�l�
���l���J¡~�M�1��� £^����� �=�

k[δ]
�^�O� (

xt ut yt
)
∈ Ω

§
¨©¦=�-������¡O�o��¡=�M�^���=���l�\�e�j��� �C��� ¢

(4)
�^���%��¦=�e�Å���M�^�O��¾

�¥�1���C�W���'�����~�~¡=� � ¢ �M�^���eªx�l��«\¿��j�e�'¼?Ê
� � �C���e¿ ¶CÓlÖlÓ ½o§
Ê=�l�'��­=�^���=� �l¿����l�Y�����l� �¥�^�=� � � ��¤×���l�����C�j�\�^�O�=����� ��¦=�
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x ∈ Rn, u ∈ Rm, z ∈ Rp
¿~�^�O�

f
�¥�x�J�j���~�^��¦

£l�C�o���l��ÞO�e�¥�
� ¢ �^�=�=���l�=���¥�1�����~� ���e�O�j� �l�'�^�O�
h
�¥�#�^�

�^�O�^� ¤Y���¥� ¢ ¡=�O�o��� �l��§
{
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∃y ∈ Rm; y = λ(x, u, u̇, u(2), ..., u(r))
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x = ϕ(y, ẏ, y(2), ..., y(k))

u = φ(y, ẏ, y(2), ..., y(k+1))

z = ψ(y, ẏ, y(2), ..., y(k))
¨©¦=�¥���~� ¬\�e���e�Y���¥�^�.�O�^�M�^���������  C�1��� �^�W���l�l�M�^� �O���^� �8��¦=�
� �=�=¡~�j¾q���M�1���Â�^�O�D���M�1����¾É�l¡~���=¡~��� � ¢ �l�����1�M� �l� � ¢ ��¦=�
�l� £l�e���j¤=�����e�Õª�¦=�¥��¦
�¥��¡O�j� ¢ ¡=� ¢ �l�#���M�^�=� � �  C�1��� �l���^�O�
���M�^ÃÉ�C�o���l��¤����M�l��«6� �=�����l�l�����l���~�C�j� �l��§

Ù §�Æ�º�¸#®���¹���Ï�� Ä º�®���Ñ7Ñ�·�¸��"º�Ê|Ñ�·�¸����#¹
¨©· Ä ���8�#¹���·�¸��"Í���Í~¨�� Ä Í

� ��� ���'£^�^��¤6� �=�À�A�l�O�°�l�M�^�=¦Å���=�~�����¥�%���l���A�Y�j�C�
� ¢ �O�l�j�¥���e� �e���e�Y�M�e¿O�l���j�~���¥�1���C��ª�� ��¦��A�l�j�M�e¿

I
�^�O�

C¼4�A�^��¦°�����l�M�^�^��ÞO�e�¥�=�M½o¿
R
¼?�~�¥���j� �O�1��� £l��ÞO�e�¥�O½o¿

MSe�^�O�
MSf

¼?�j�l¡=�M���C�M½o§��E� �e���e�Y�M�
0, 1, TF

¼n���M�^�O��¾
¢ �l�����e�M�M½��^�O�

GY
¼4�l¤6�M�1���l�M�M½����l���\�Y�j�-��¦=�
Ãq¡=�O�M¾

��� �l�°���M��¡=�o��¡=���l¿�ª�¦=�¥��¦°��­=�M¦O�^�=�l�C���e�=�e���l¤Ë�A����ªx�e�e�
��¦=�Å�~� ¬\�e���e�l�Â�O�^�j�M�-� ¢ ��¦=���~¤6�O�^���¥�|�j¤~�����e� �^�O�
�¥�����l�O�����M�^� �=�C�%�������1���¥� ¢ ¤��A�1ª��e�����l�O�j����£^�1��� �l��§O¨©¦=�
���l�O����� ��¡~��� £l���¥��ª���� ¢ ��¦=�C�j���e� �e���e�l�M���^�����=���C�j�e�l���C�
¦=�e���C� ¢ ���e��� ���^�
�^� �l�e�=�M�^�¥� ¢ �M�^���eªx�l��«\§



�Y]nX
R
c�b c
��c�dOf

Ê=�l�©����� ����£1�^��¤6� �=�J� � �=�C�^�
R
�e� �e���e�Y�C¿~�l�e���l�M�~� �=�����

�e�^¡O���^� � ��¤l¿Y�qªx���e�l�j�C�©�e�^���A�����l�O�j�¥�~�e���C�r§6· ¢ ��¦=���O��ª
f
�¥���l� £^�e��������¦=�

R
�e� �e���e�Y�C¿~��¦=�e�

e = R(t)f
§

· ¢ ��¦=�À��¬\�l�j�
e
�¥�
�l� £^�e�D���Å��¦=�

R
�e� �e���e�l�C¿���¦=�e�

∀R(t) 6= 0, f = R−1(t)e = (1/R(t))e
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R : R(t)
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·É���¥���A���j���e�����
�l���j� �l�'�^�W� �l���e�l�M�^�.�e�^¡O���^� � ��¤������~¤Y¾
�O�^���¥�e�^�
�e� �e�����Y�M��� �-�l�M�~�e�������A�e� ¢ �l���T�¥�l���e�l�M�1��� �l�
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eC

fC

eI

fI

C : C(t) I : I(t)
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C(t)
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I(t)
δ−1eI
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qC = C(t)eC
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pI = I(t)fI
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fC = δC(t)eC , eI = δI(t)fI
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fC = C(t)δ
︸ ︷︷ ︸

C element

eC + Ċ(t)
︸︷︷︸

R element

eC

eI = I(t)δ
︸ ︷︷ ︸

I element

fI + İ(t)
︸︷︷︸

R element

fI
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.... e1e1 e2 e2

f1f1 f2f2

m(t) m(t)

TFTF

{
e1 = m(t)e2
f2 = m(t)f1

{
e2 = 1/m(t)e1
f1 = 1/m(t)f2
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r(t) r(t)

GYGY

{
e1 = r(t)f2
e2 = r(t)f1

{
f1 = 1/r(t)e2
f2 = 1/r(t)e2
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δx = A(t)x(t) +B(t)u(t)
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Tem = kmi
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Φ0(1 + αsin$t)
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z(t) = P−1(t)x(t) or x(t) = P (t)z(t)
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δz(t) = Ā(t)z(t) + B̄(t)u(t)
¼ ¶ Úl½
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B̄(t) =

P−1(t)B(t)
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Ā(t)
�^�O�

B̄(t)
�l�
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0 0 0 .. −a0(t)
1 0 0 .. −a1(t)
0 1 0 .. −a2(t)
: : : .. :
0 0 0 .. −an−1(t)
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P (t)
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P (t) =
[
p1(t) p2(t) p3(t) .. pn(t)
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P (t)Ā(t) = [A(t) − δ]P (t)
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p2(t) = [A(t) − δ]B(t)
:
pn(t) = [A(t) − δ]n−1B(t)¯��l�O�j�CÌY¡=�e�Y��� ¤

P (t) = [B(t), (A(t)−δ)B(t), ..., (A(t)−δ)n−1B(t)]
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[A(t) − δ]x(t) +B(t)u(t) = 0
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C(t)P (t) = (0, ..., λ(t))

§~¨©¦=�e��� ¢ �l���l¿^��¦=�����1ª°£^�C�o���l�
C(t)

���1���¥� ¢ ¤���¦=���j����� ¢ �^� �l�e�~�M�^�n���CÌY¡O�1��� �l�O��¼ ¶ � ½o§
{
C(t)[A(t) − δ]l−1B(t) = 0
C(t)[A(t) − δ]n−1B(t) = λ(t)

¼ ¶ � ½

∀ l = 1, .., n− 1¨©¦=���e�Y����� �C�7� ¢ ��¦=�x���l� ¡=����£l�C�o���l�M�
[A(t)−s]l−1B(t)�^�����l�6�o�^� �=�e���~� ���C�o��� ¤ ¢ ���l�Î��¦=����� ����£^�^��¤6� �=���A�l�O�

�l�M�^�=¦����=�~�e�r�6¤����C�^�O�©� ¢
¢ �l���J¡=�¥��¼ ¶ �^½o§

{[A(t) − δ]l−1B(t)}j =
∑

H

Gl(u, xj)(t)
¼ ¶ �^½

� ¦=�e���
Gl(u, xj)(t) =

∏1
i=n(G̃i(t) − γδ)

�~�e�=�^���C�
��¦=���Y�^� ��� ¢ ��¦=�

kth
�e�^¡O���^�=�O�1��¦�� ¢ � �e�=�^��¦

l
���e�¥�1��� �=�

��¦=��� �=�=¡~��£^�^���¥�^�=� �
u
������¦=�����M�1����£1�^���¥�^�=� �

xj

§

• G̃i(t)
�¥�#��¦=�����l�O���M�^�Y���O�^�j��� ¢ ��¦=���e� �e���e�Y�M�^��¤

�e�^¡O���^�.�O�1��¦À�Y�^� �Â�1���M¦~���e� �e���e�Y�
i
�^� �l�=�%��¦=�

kth
�e�^¡O���^�\�O�1��¦�§

• γ = 1
� ¢ ��¦=���e� �e���e�Y�M�^��¤��e�^¡O���^�r�O�1��¦
���l�l�M�^� �O�

�D�e�^¡O���^��� �6�l��� ¢ � �e�=�^��¦â�l�=�×¼ ¢ �l�����C� �6¤ �
�~¤6�O�^���¥�e�^�#�e� �e���e�l���^�O�°�^�°¹ �e� �e���e�l�o½��^�O�
γ = 0

�^��¦=����ª��n�j�^§
• H

�~�e�=�^���C����¦=���j����� ¢ �^� �
�M¦~���e�^¡O���^�8�O�1��¦O��� ¢
� �e�=�^��¦

k
���l�=�=�C�o��� �=�
��¦=��� �=�=¡~��£^�^���¥�^�=� �

u
���

��¦=�����M�1����£1�^���¥�^�=� �
xj

§
R#c
��i1g�� ´ ] •

®#¡=��������¦=���=�l�W���l����¡~�M�1��� £l���l��¾
�A�C�o�C¿6��¦=���Y�^� ��� ¢ ���e�^¡O���^�A�O�1��¦�¦O�l�������A���e�^� ¾
��¡=�¥�1���C���O�l�M«6ªx�^�M�r¿1�h§ �l� ¢ ���l����¦=���l¡~���=¡~��¼?�j� �=«=½
£^�^���¥�^�=� �#������¦=��� �=�=¡~�J¼?�j�l¡=�M����½�£^�^���¥�^�=� �l§

•
¨©¦=� ¢ ���e�e�=�C����� ¢

Ω
���C�^�O����¦O�1���e£^�e��¤��e� �e���e�l�

w ∈ Ω
�¥�x���l�M�j� �l��¿~�h§ �l�

[
A(t)t + δ
B(t)t

]

wt = 0

ª�¦=�¥�M¦��¥���CÌY¡=� £1�^� �e�Y��������¦=�����l�O�~� ��� �l���l� £^�e��� �
�CÌY¡O�1��� �l�Â¼ ¶ � ½ ¢ �l�

w = C(t)x(t)
§

•
�����^� �l�l��� ��¦=� �e�^���A�x�l�~�M�^� �=�C� ¢ �l�
�J¡=� ���6� �=�=¡~�
�A�l�O�%�l�M�^�=¦O�x� �
���j� ��� �¥�^��ª©�C¤l§

Ô §�®#·�Ê8Ê ��¹���¸#¨©·���ÑÀÏr�#¹�� Ä ��¨�¹�·��\�.¨©·�º�¸
��chs.dOmnfhm?a1d�ZA] �À��� �=���A�l�O���l�M�^�=¦���£l�e�7����� �=�

k[δ−1]�^�O�Â�
k[δ−1]

¾É���~�~¡=� �
Ω
���C�^�O���
�A�l�O�Â�l�M�^�=¦Â�~��¾

������� �A�C���6¤%���j����� ¢ �CÌY¡O�1��� �l�O�x� ¢ ��¦=� ¢ �l��� ¼ ¶CÖ ½o§



ei =

n∑

j=1

ai,jej +

m∑

k=1

bi,kuk, i = 1, ..., n
¼ ¶CÖ ½

ai,j

¿
bi,k

�^����� �
k[δ−1]

�^�O�
ei

¿
ej

�^�O�
uk

�^���
� �
Ω
ª�¦=�¥�M¦��6�e�=�^���%¦=�e������¦=����¬\�l�j���l�J�O��ªÎ£^�^���¥�^�=� �C�

�l���j�~���¥�1���C��ª�� ��¦���¦=�x�~¤6�O�^���¥�e�^�^�e� �e���e�Y�M�7� ��� �Y���e�l�M�^�
�e�^¡O���^� � ��¤À�^�O�À��¦=����¬\�l�j���l�J�O�1ª £1�^���¥�^�=� �C���l���j�~��� ¾
�1���C�|ª�� ��¦|��¦=��� �=�=¡~���j�l¡~�M���C�e§.¸��^���%��¦O�1����¦=����� �=�
k[δ−1]

�¥�%�=�^�-���l���J¡~�M�1��� £l�W� ¢
k
�¥�%�=�^�-�ËÞO�e�¥�×�

���l�O���M�^�Y�M�e§
·q�O�~�e�C�r¿=�CÌY¡O�1��� �l�Â¼ Ó ½x�e�^���A��ª���� �j���e���l�

δx(t) = [A(t)δ−1]δx(t) +B(t)u(t)
¼ ¶CÓ ½

ª�� ��¦
k = R(t)

§7���e���l�M�~� �=�����
�~��ÞO�=� ��� �l�ÂÜO¿ Ä �l�j�l�
� �6�l�W��¡=� ���e�^�W�=�^���A��¡O�j�C�'�A�C�e�^¡O�j��� ���¥���O�l�j�C�-�l�
¯��M�^�����e����¡=� �Jª�¦=�¥��¦-¦=�l�¥�=���l�=� ¤%� �
��¦=�����l���J¡~�M�1¾
��� £l���e�l�j�l§e������­6���e�O�j� �l��������¦=�¥����¡=� �.������¦=�E�=�l�����l��¾
�J¡~�M�1��� £^�
�e�l�j���¥���=���C�j�e�Y���C�Ë¦=�e���C� ¢ ���e�C§
·É���n���O�l�j�C�
�l�%¹�� �e�l� �lá �x�Y�^� � ¢ �l���J¡=�¥�Jª�¦=�¥�M¦%�¥�x�l��� �l� �O�^� � ¤�� �Y�����^¾
�~¡O���C�
� �
��¦=� ¢ �M�^���eªx�l��«�� ¢ �=�l�~¾q���l���J¡~�M�1��� £^�J�j���M�
� ¢ �^� �l�e�=�M�^�¥�.�CÌY¡O�1��� �l�O��¼4ÏE� �¥�^���^�O��Ñ��e�l¿ ¶CÓlÓYÔ ½o§C¨©¦=�¥�
��¡=� ���¥���^�¥�j���^�=�=� � �C���l��£1�^���¥�1��� �l�O�^�\�\�l�O�%�l�M�^�=¦O�©� �
¼?����¦=� � c�f�i1b ] ¿AÚ^ÛlÛ^Ü6½o§
��chs.dOmnfhm?a1d y ] Ê=�l���Â��� �=�Â�A�l�O���l�M�^�=¦���£l�e���W�=�l�
���l���J¡~�M�1��� £^����� �=���l��ÞO�e�¥�r¿r��¦=���Y�^� �Â��­~�=���C���j� �l�'�¥�
�l� £l�e�%�Y¤W¼hÚ^ÛY½o§

T =
∑

k∈H

G(k)

¼hÚ^ÛY½

ª�¦=�e���
G(k)

�¥�
�e�^� � �C����¦=�©�e�^¡O���^�l�O�1��¦J�=���~�~¡O�o�
� ¢ ��¦=�
kth

�e�^¡O���^�=�O�1��¦ ¢ ���l�È�^��� �=�=¡~��¼?�j�l¡=�M����½
�e� �e���e�Y�E���
�^���l¡~���=¡~�©¼?�j� �=«=½\�e� �e���e�l�C¿C�^�O���l� £l�e���Y¤�¼hÚ ¶ ½o¿eª�¦=�e���
��¦=���=���~�~¡O�o���n�x�M�^«l�e�%� ���l�M�~�e�©�1£^�e�©��¦=�

n
�e� �e���e�Y�M�

� �|�M¦~�
kth

�e�^¡O���^���O�1��¦�§
Ak

i

�¥����¦=�
ith

�\�l�O�|�Y�^� �
¼4�l�A�e�M�1���l�o½��^� �l�=����¦=�

kth
�e�^¡O���^�7�O�1��¦�¿r�^�O�

S
(k)
i

�¥�
��¦=���j�e� ¢ ¾É�Y�^� ��� ¢ ��¦=�#�e� �e�����Y�x� �����C�~�¥�1���e� ¤ ¢ �l� � �1ª�� �=�
��¦=�©�A�l�O�

A
(k)
i

ª�� ��¦J��¦=�����e���^� �=� �=�#�\�l�O�=�8�^� �l�=�#��¦=�
kth

�O�1��¦%���e���1£l�C�r§

Gk =
1∏

i=n

(1 − Sk
i )−1Ak

i

¼hÚ ¶ ½

��chs.dOmnfhm?a1dÂ[^] ¨©¦=���j�e� ¢ �Y�^� �Â� ¢ �%��� �=�
�A�l�O�W�l�M�^�=¦
�~¤6�O�^���¥���e� �e���e�Y���¥���CÌY¡O�^�����Â��¦=�'�j¡=� � ¢ �^� ����¦=�
�Y�^� �O�.� ¢ ��¦=�#�e�^¡O���^�~� �~�l�O�
��¦O�1�x�����Y���
��¦=�#���l�O�j�¥�~�e���C�
�e� �e���e�Y�C§
R#c
��i1g�� �Y] ¨©¦=�
�j�e� ¢ ¾É�Y�^� �Å�^�O�|�A�l�O�|�Y�^� ���¥� ¢ ¡=�O�o¾
��� �l��� ¢

t
�^�O�

δ
�l�
δ−1

�6�e�\�e�O�~� �=�J� ¢ � �©�¥�x�e�^�¥��¡=�¥�1���C�
�l����¦=���~� ���C�o�#�l�#� �6£l���M�j����� ���J£^�^��¤6� �=���\�l�O���l�M�^�=¦
���~�~�e�h§

¨©¦=�E� �=�=¡~�
�l¡~���=¡~�
���e�¥�1��� �l���l�~�M�^� �=�C��¡O�j� �=���CÌY¡O�1��� �l�
¼hÚ^ÛY½��¥���l� £^�e�%�6¤���¦=���Y�^� ����­~�=���C���j� �l�W¼hÚlÚl½�§

y = T (t, δ−1)u
¼hÚlÚl½

· ¢ �M¦~�D�j¤~�����e���À�¥�Â�A�1�C¿��CÌY¡O�1��� �l� ¼hÚlÚl½W�¥�Ë�^� ª©�C¤~�
� �6£^�e�j��� �=� �À�^�O� �e�O�^�=� �C�%¡O�������l���%��¦=�Â� �=�=¡~�
�l¡~�j¾
�=¡~���~� ¬\�e���e�l���¥�^�~�O�^�M�^���������  C�1��� �l�J�l� £^�e���Y¤J�CÌY¡O�1��� �l�
¼hÚ Ù ½o§

u = T−1(t, δ)y
¼hÚ Ù ½

� §���ÏEÏxÑr·�¯x�E¨©·�º�¸ ¨#º�Í ��®�¯ Ä
¯��l�O�j�¥�~�e� �^�Y�^� � ��¦=�È��� ���Î£1�^��¤6� �=�Õ�A�l�O� �l�M�^�=¦
���~�~�e�
� ¢ �j�C�o��� �l� Ú~§�¨©¦=� ���M�1���Ò£^�C�o���l�Å�¥�

x =
(pLa

, pJ ) ≡ (x1, x2)
§

[^]nX|�Eb i1f�a1u~f ±Au~f©aj��f4�=c�L=_ ��S
Q
�"�O�^�j���¥��¡=�¥�^����­~�=���C���j� �l�-� ¢ �CÌY¡O�1��� �l�Å¼ ¶�Ô ½#�¥���l� £l�e�
�6¤'¼hÚ1Ü6½o§

y = c1(t)x1 + c2(t)x2

¼hÚ1Ü6½
·É� ¢ ¡=�j��¦=�e��£l�e��� ÞO�C����¦=�����l�O�~� ��� �l�O�©� ¢ �CÌY¡O�1��� �l�W¼ ¶ � ½o¿
ª�¦=�Y�j�E���~�
����� �e�l�M�7�^���E�~�����e����� �=�C���6¤��^�O�^� ¤6 e� �=�©��¦=�
�e�^¡O���^�\�O�1��¦O��� ¢ �~� ¬\�e���e�Y��� �e�=�^��¦O�e§
{
c1(t)G1(va, x1) + c2(t)G1(va, x2) = 0
c1(t)G2(va, x1) + c2(t)G2(va, x2) = λ(t)

¼hÚ Ô ½

•
¯x�^¡O���^�r�O�1��¦O�©� ¢ � �e�=�^��¦ ¶
G1(va, x2) = 0

�A�C�e�^¡O�j��� ���~�6�C���=�^�#��­~�¥�����^�Y¤
�e�^¡O���^���O�1��¦-� ¢ � �e�=�^��¦ ¶ ���l�=�=�C�o��� �=����¦=�J�A�l�O�
�l�M�^�=¦��e� �e���e�Y�

(I : J)
���Â��¦=�
� �=�=¡~�%�j�l¡=�M���l§

¨©¦=�¥��� ���=� � �C�x�M¦=�1�
c1(t) = 0

G1(va, x1) = 1
•
¯x�^¡O���^�r�O�1��¦O�©� ¢ � �e�=�^��¦
Ú
Í6� �O���

c1(t) = 0
� � ���e���^� �O� ���T�e�^�¥��¡=�¥�1���

G2(va, x2)
ª�¦=�¥�M¦-�¥�#�eÌ6¡=�^�7���

kmΦ(t) 1
La

§A·É���¥�
�j¡ ����� �e�Y�����-��¦=�~�Y�j�

λ(t) = kmΦ(t) 1
La

�����l���
y = x2

§

[^] ´ ��m ��c�gjc�dOfhm?i1b=±=i1gji ��c�fhgom �Ci1fhm?a^dÀaj��f4�=c�L=_ ��S
Q
Ê
� �M���C¿Y���l�O�j�¥�~�e�.��¦=�#�j¡=�~¾É�A�l�O���l�M�^�=¦�� ¢ ÞO�l¡=���J¼��C¾q�Y½o§
Æx¤�ª���� ��� �=����¦=��Ãq¡=�O�o��� �l���CÌY¡O�1��� �l��¿l�l�=�#�l�~�M�^� �O�E��¦=�
���e�¥�1��� �l�W¼ÉÚ � ½o§

f1 =
1

La

δ−1[1 +
Ra

La

δ−1]−1e1
¼hÚ � ½

. .

I : La I : La I : J

R : RaR : Ra

ia ia

GY

ω

kmΦ(t)

a

b

b

e1 e1

f1 f1

e2 = é2

f2

R : b
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�1��� �l�O�^�r�A�l�O���l�M�^�=¦%���~�~�e��� ¢ ��¦=�JÍ ��®�¯ Ä



¸��1ª�¿8���l�O�j�¥�~�e����¦=�%�e� �e���e�Y�
I : J

� ¢ ÞO�l¡=���W¼��C¾É�A½o§
·É�M�%�j�e� ¢ �Y�^�¥�°�e�^� �A�W�e�^�¥��¡=�¥�1���C�Å�Y¤°�j¡=����� �=�Ë��¦=�
�Y�^� �À� ¢ ��¦=����ªx�'�e�^¡O���^��� �6�l�O�

I : J 
 R : b
�^�O�

I : J 
 GY : kmΦ(t) 
 I : La
§

¨©¦=���e�^�¥��¡=�¥�1��� �l�'� ¢ ��¦=��ÞO�M����� �6�l�'�Y�^� �W�¥�������M�^� �l¦l�j¾
¢ �l��ª©�^�M�Â�j� �O�����^� �E��¦=���l�A�e�M�1���l�M���^�������l�O���M�^�l���^�O�
�¥�©�CÌY¡O�^�\���

S1 = − b
J
δ−1

§
Ê=�l�'��¦=���j�C���l�O� � �6�l� �Y�^� ��¿����M�^�j�Wª�� ��¦â�^�6¤ �j�=� � �
£1�^���¥�^�=� �|¼?�j�l¡=�M���-�^�O� �j� �=«�£^�^���¥�^�=� ��½o¿E� ���%� �%�A�

e2�^�O�
e′2
�^�O�%�e�^�¥��¡=�¥�1������¦=�����M�^�O� ¢ �e�����e�¥�1��� �l��§

e2 = kmΦ(t)f1 = kmΦ(t).
1

La

δ−1[1 +
Ra

La

δ−1]−1e1

= kmΦ(t).
1

La

δ−1[1 +
Ra

La

δ−1]−1kmΦ(t)f2

= kmΦ(t).
1

La

δ−1[1 +
Ra

La

δ−1]−1kmΦ(t)(−
1

J
δ−1)e′2

¨©¦=�e��� ¢ �l���l¿8��¦=�W�j�e� ¢ �Y�^� �Å� ¢ ��¦=�-�e� �e���e�Y�
I : J

�¥�
�CÌY¡O�^�\���

S2 = S1+
km

La

Φ(t)δ−1[1+
Ra

La

δ−1]−1(−
km

J
Φ(t)δ−1)

¸��1ª�¿
� ���¥�J�A�Y���j�¥�~�¥�����W�e�^����¤W�l¡~����¦=���e�^�¥��¡=�¥�1��� �l�O�
¢ �l�©��¦=��ª�¦=�l� ���A�l�O�%�l�M�^�=¦�� ¢ ÞO�l¡=��� � §

ω =
1

J
δ−1(1−S2)

−1kmΦ(t).
1

La

δ−1(1+
Ra

La

δ−1)−1va

·q�6£^�e�j��� �=���^�O�����l�O�j�¥�~�e��� �=�
y = Jω

�l�=���l�o�o�

va = (1 −
Ra

La

δ−1)(
km

La

Φ(t)δ−1)−1(1 − S2)δy

¹��e�=�¥�l��� �=�
S2
�^�O�%�j� ���=� � ¢ ¤6� �=���l� £^�C�

va =

[

(δ +
Ra

La

)(
km

La

Φ(t))−1(δ +
b

J
) +

km

J
Φ(t)

]

y

»#�j� �=�-��¦=�%��¡=� ���¥�~�¥�¥�e�1��� �l�Ë��¡=� �l¿
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)ẏ

+(
Rab

LaJ
−

Φ̇(t)b

Φ(t)J
+

k2
m

LaJ
Φ(t))y

]

¨©¦=�Å���M�1���|�l¡~���=¡~�Â�O�^�M�^���������  C�1��� �l�Ò�¥�Â�e�^�¥��¡=�¥�1���C�
�j� ��� �¥�^��� ¤��6¤È���l�O�j�¥�~�e��� �=�D��¦=�°£^�^���¥�^�=� �

x2

�l�À�^�
� �=�=¡~��£1�^���¥�^�=� �l§rÊ=���l� ��¦=���A�l�O�'�l�M�^�=¦'� ¢ ÞO�l¡=��� � ¿
� � ¢ �l� � �1ª��

ω =
1

J
δ−1(1 − S1)

−1kmΦ(t).
1

La

x1

·q�6£^�e�j��� �=���^�O�%���e�=�¥�l��� �=�
S1

x1 =

(
km

La

Φ(t)

)−1

(δ +
b

J
)y

¨©¦=�e��� ¢ �l���

x1 =
LaΦ(t)

km

(ẏ +
b

J
y)

Ê
� �O�^� � ¤l¿��^� ����¦=�°�j¤~�����e� £1�^���¥�^�=� �C�
x1

�^�O�
u
�^���

��­~�=���C���j�C��� �
���e�����#� ¢ ��¦=���A�1���l¡~���=¡~�
y = x2

�^�O�
� �M���~�e��� £1�1��� £l�C�e§

¯�º�¸�¯xÑ7»#®#·�¸��â¹�� Ä �#¹���Í
¨©¦=���=���C�j�e�l���C�����C�j¡=� �M�8�l�\�����=�eª��¥���j¡=�C� ¢ �l�E�^�O�^� ¤~�j�¥�
� ¢ ������¡O�M�M¡~�M�^�=�=���l�\���j�M� �C�8� ¢ ��� ����£1�^��¤6� �=��� � �=�C�^���j¤~��¾
���e�����M�^«6� �=�%� �l���
�l�e���l¡=�l����¦=���=�l�Â���l����¡~�M�1��� £6� ��¤
�l�j�A�C�o�C§�¨©¦=�-¡O�j�-� ¢ �\�l�O���l�M�^�=¦O�
¼4�l�M�^�=¦=�¥�e�^�#���l�~¾
���e�~�M�M½E�j� ���=� � Þ=�C����¦=���A�1�x�l¡~���=¡~�©�¥�~�e�Y��� ÞA�e�1��� �l���^�O�
�O�^�M�^���������  C�1��� �l�Ò�^�O�Ò���C�~¡O���Ë�e�^�¥��¡=� ¡O�-�A�C�e�^¡O�j�Ë� �
�M�^«l�C�©�l�~£^�^�l�M�^�l��� ¢ ��¦=�����e�^�M��� ��¤�� ¢ ���M�1�����CÌY¡O�1��� �l�O�
���1�����¥���C�8� ¢ ��¦=���\�l�O���l�M�^�=¦�§^Ê=¡=�j��¦=�e�C¿l�^����­6���e�O�j� �l�
�����J¡=� ��� ¾É� �=�=¡~�#ª�� � ���A�����l�O�j�¥�~�e���C�r§

¹���Ê ��¹���¸�¯��xÍ
����¦=� �C¿
��§ ¿'¯#§-Í6¡=�e¡=� �^�O� ��§
®��^¡=�=¦=� �~¾q¨
�^�=�l¡=¤

¼hÚ^ÛlÛ^Ü6½o§7¹�� �=�'�A�l�O�À�l�M�^�=¦O���1£l���J�=�l�|���l����¡~¾
�M�1��� £^�W��� �=�Y���^�=�=� �¥�e�1��� �l�°����£1�^���¥�1��� �l�O�^�#�A�l�O�
�l�M�^�=¦=�e§ KMQ%H#HJS7H i�±=i1gof�aj�#KodOfq]7Q'cMkl]8Q'aCklc�b �
mnd6³�Q
u~b fhm?`�a1d��oc�g�c�d\`Mc�K
�1Q NEN�I�c�d\aei�N.Kofqi1b ² §

Æx�l¡=��� àC�e¿ ��§Y�^�O� Ä §lÊ
� � �C����¼ ¶CÓlÖ Ü6½o§^Ê
� �=� �����A�l� �C�E�^�O�
 e�����Y�.� ¢ � � �=�C�^���j¤~�����e���e�l�^��� �Y����� �O�j�¥���^�=�=���Y�l��¦�§
KodOfq]��~].aj��SEa1dOfhg�a1b���� ¿ ÖlÓ ��� Ó ÚlÚ6§

®��^¡=�=¦=� �~¾q¨
�^�=�l¡=¤l¿ ��§ ¿.��§8¹��^¦=���^�=�x�^�O��¯#§.Í6¡=�e¡=�
¼ ¶CÓlÓlÓ ½o§�Æx�l�O���l�M�^�=¦��^�¥�~�C�J�~�C�j� �l��� ¢ ���l�Y�����l� � �C�
�j¤~�����e���e§ LAm	��u~b i1fhm?a1d|wxg�il`�fhm?`Mc-i1drk	�\�=cMa1go²�
r5
�
>
����� ¿~Ü ÓlÙ � Ô6¶CÙ §

Ê
� � �C���e¿ Ä §8¼ ¶CÓlÖlÓ ½o§O��¡~���l���1���¥Ì6¡~�J�������l���O���~� ¬��e���e�~¾
��� �e�¥�e§ �oa1gou �ÕQ'i1f4�=]�� ¿AÚlÚ ���~Ú ÙlÖ §

Ê
� � �C���e¿ Ä §~¼ ¶CÓlÓ ÛY½o§ ���e�=�e�M�^� �  e�C���o�l�Y�����l� � �e�
�e�^�=�l�=�¥�e�^�
¢ �l��� ¢ �l�
� � �=�C�^�8�^�O���=�l�=� � �=�C�^�8�~¤6�O�^���¥�e�e§ K�_E_E_
�6g�i1d=�eil`�fhm?a1d=�
a1d|H#u~fqa ��i1fhm?`'SEa1dOfhg�a1b���� �
>��
� ¿ ÓlÓ Ü�� ¶ ÛlÛ ¶ §

Ê
� � �C���e¿ Ä § ¿YØO§lÑ��e£6� �=�l¿lÏE¦�§ Ä �^�j��� ���^�O��Ï8§Y¹��l¡O��¦=�l��§
¼ ¶CÓlÓYÔ ½o§AÊ
�¥�1���=�C�����^�O�'�~� ¢ �C�o��� ¢ �=�l�=� � �=�C�^���j¤~��¾
���e���©�1� �Y�����~�~¡O�o���l��¤���¦=�e�l��¤��^�O�J��­~�e���=� �C�e§ KodOfq]
�~]�SEa1dOfhg�a1b���������� ¿ ¶CÙ Ú ��� ¶CÙ �=¶ §

Øl¡=�O���O¿.Í\§�¼ ¶CÓlÓlÙ ½o§.ÍY�M�^�=� � � �q¤|�^�=�^�¥¤~�j�¥�J�^�O�|���M�^�=� � �  �¾
� �=�Å���l�Y�����l���j¤6�Y��¦=�C�j�¥��£6�¥�|� ¤Y�^�=¡=�=�1£\á ���j�C���l�O�
������¦=�~���~� ���C�o��� ¤��l���A�l�O���l�M�^�=¦O�.�l���=�l�=� � �=�C�^�
�j¤~�����e���e§ K�_E_E_� ~K�_�S"!EU �=��§AÚ^Û �YÔ �6Ú^Û �lÓ §

���^���=�l�=��¿E®J§ ¯#§ ¿©®J§ ÑE§ Ä �^���l�l� �¥���^�O�°¹�§ ¯#§x¹��Y�j�e�~¾
�A�e��� ¼ ¶CÓlÓ ÛY½o§ LA²��ofqc
� ��²1d\i ��m?`o�$#�H P
dOm s�cMk
Hx±l±AgjaCil`M� § � � � �e¤l§

Ä �^� �l�M�^�=�l�l¿�Æ�§-¼ ¶CÓ
�lÙ ½o§ _�t�uOi1fhm?a1d=�Òk1m ��p�g�c�dOfhm?c�bnb co�
% `Maec'&�`�m?c�dOf?��±=a1b ²1d\a ��m?i1ul� §
Æx� ��«~¦�(^¡O�j�e�C§�Ñ��l�~¾
�~�l�r§

ÏE� �¥�^��¿�ØO§#ºJ§©�^�O� ��§�Æx��¡O���WÑ��e��¼ ¶CÓlÓYÔ ½o§�º#� ��¦=�
�l� �l�O�^�©�=���l�A�e�j��� �C��� ¢ � �Y���e�M���l�=�=�C�o���C���j¤~���M�����e§
K�_E_E_Dfhg�i1d=�eil`�fhm?a1d=��a1d'`�mng�`�u~mnf?��i1d\k��o²��ofqc
�J�o�?K�#
��a1d\kli ��c�dOfqi1brf4�=cMa1go²�i1d\k�iM±l±Ab m?`�i^fhm?a1d=�")�*
�
>��
��* ¿ ¶ Û ¶CÙ � ¶ Û ¶ �Y§

¹��e� �O���M¦~«l�l¿ ��§�ØO§
¼ ¶CÓlÖlÖ ½o§ Q
u~b fhmn}1i1gom?i,+�b c�`Ma1dOfhg�a1b #
HÁ³^g�iM±=�6�qf4�=cMa1gom?`�iM±l±Ag�aCil`M�YN�G7c�`�fhu~g�c-UJa1fqco�Wmnd
SEa1dOfq].i1d\kJKod��oa1g ��]
Lr`�m?].X µ V §\Í6�=��� �=�l�e�j¾É£l�e�j�¥�^�=§¹��^���e� �¥�=¿ Ä § ¿ Ä §��8¤Y�l�~���^�O�×Êx§ Ø ¯x�^����� � � �×¼hÚ^ÛlÛYÚl½o§
¯��l�l�����l�O�^�O�J���M�^Ãq�C�o���l��¤����M�l�M«6� �=���Y¤J�A�1���=�C���.� ¢
��� ����¾É£1�^���¥�^�Y�.���M�1���l�8�O¡~­J���^���l�C§ wxg�aC`�cMcMk1mnd6³1��aj�
f4�=c ´6µlµ1´ K�_E_�_ `Ma1d��oc�gjc�d\`Mc
a1dDSEa1dOfhg�a1b©iM±l±Ab mn�
`�i1fhm?a1d=�MN�I©b i��e`�a.-8N�Lr`�a1b fhb i1d\k�N
P.] /�] �=��§ ¶ ÛYÚ0�
¶ Û � §


